T=9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 00024000

1.500e+000

T= 9.506[s]

1. 000e+000
5, 0008001
0. 0008+000
.(Vsl . 000}
/

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.5008+000

T=11.006[s]

1.000e+000
= 5. 000e-001
0. 000+ 000
.(V=l .000)
LSO
/

T= 11.50269 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

T= 11.503[s]

1.0002+000
5.000e-001
0, 000+ 000
(V=1,000)
/

T=12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.000e+000

T= 12.005[s]

(a) 3 W&JT B (b) A 1B 17 715388 20 AT
M- 8.8.10 EFMEVOAENDY I 2l —3 a s iER (F-We20-A-40)

5. 000e-001
0., 000+ 000

{V=1,000)

8-93



T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0002+000
5,0008-001
0, 000e+000

V=1.,000)

9.506[s]

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000
1,500e+000
100024000
T= 11.006[s] 5.000-001
0, 000e+000

(V=1.,000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
100064000
T= 12.003[s] 5. 0002001
0, 000e+000

V=1,000)

T= 12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

T= 12.507[s] I

1.500e+000

1. 000e+000

5, 0008-001

0, 0002+000

V=1,000)

(a) 3 W&JT B (b) & 1B 17 75 38R 0 AT
X-8.8.11 EFMEVOKENT I 2l — g iR (F-We30-A-05)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 00024000

1.500e+000

1. 000e+000
5, 0008-001
0. 0002+000

V=1, 000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 00080000

1,500e+000

100084000
T=11.006[s] I

5,0002-001

0, 000e+000

(V=1.000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
1.000e+000
T=12.005[s] 5.000e-001
0, 000e+Q00

V=1,000)

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1. 000e+000
5, 000e-001
0, 000=+000

V=1,000)

12.507[s]

(a) 3 &L B (b) & 1B 17 7538 20 AT
M- 8.8.12 EFMEOAKENY I 2l —3 a s 4ER (F-We30-A-10)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e0000
1.500e+000
1.0008+000
T=11.006[s] Is.o‘me—ooi
0. 0002+ 000

V=1, 000)

T= 12.01058 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.,000e+000
T= 12.011[s]

5,000e-001

0, 000e+000

V=1, 000)

T= 12.50694 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1,500e+000

1. 00084000
5, 0008-001
0, 000e+000

V=1,000)

12.507[s]

(a) 3 &L B (b) & 1B 17 7538 20 AT
M- 8.8.13 EFMEOAENY I 2L —3 a s iER (F-We30-A-15)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 00024000

1.500e+000

1. 000e+000
5, 0008-001
0. 0002+000

V=1, 000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 00080000

1,500e+000

100084000
T=11.006[s] I

5,0002-001

0, 000e+000

(V=1.000)

T= 12.01058 XZ plain y= 0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
1.000e+000
T= 12.011[s] Is.oco=001
0, 000e+Q00
.(V:LODO)

A

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1. 000e+000
5, 000e-001
0, 000=+000

V=1,000)

12.507[s]

(a) 3 &L B (b) & 1B 17 7538 20 AT
M- 8.8.14 EFMEOAKENY I 2l — a s 4ER (F-We30-A-20)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 00024000

1.500e+000

1. 0002+000
5, 0008-001
0. 0002+000

V=1,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
1.0002+000
T=11.006[s] 5.000-001
0, 000e+Q00

(V=1.,000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 00024000

1.500e+000

1,0008+000
5.000e-001
0, 0002+ 000

(V=1,000)

12.005s]

T= 12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.5002+000

|1,000e+000
5.000e-001
0.000e+000

(V=1.000)

12.507[s]

(a) 3 &L B (b) & 1B 17 7538 20 AT
M- 8.8.15 EFMEOAENY I 2L —3 a s 4ER (F-Wed0-A-05)
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T= 9.50573 XZ plain y= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1,000e+000
5, 0008-001
0, 0002+000

(V=1,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000
1,500e+000
1.0008+000
T= 11.006[s] 5.000-001

0. 0002+ 000

V=1,000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1.,000e+000
T= 12.005[s]

5.000e-001

0. 0002+ 000

(V=1.000)

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1,0008+000
5, 0002-001
0.000e+000

{V=1.000)

12.507[s]

(a) 3 WL (b) 1B 17 7538 20 AT
M- 8.8.16 EFMEOAENY I 2L —3 g 4ER (F-Wed0-A-10)
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T= 9.50573 XZ plain y= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1,000e+000
5, 0008-001
0, 0002+000

(V=1,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000
1,500e+000
1.0008+000
T= 11.006[s] 5.000-001

0. 0002+ 000

V=1,000)

T= 12.01058 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 0002+000

1.500e+000

1,000e+000
5.000e-001
0. 0002+ 000

(V=1,000)

12.011[s]

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1,0008+000
5, 0002-001
0.000e+000

{V=1.000)

12.507[s]

(a) 3 WL (b) 1B 17 7538 20 AT
M- 8.8.17 EFMEOAKENDY I 2L —3 3 4ER (F-Wed0-A-20)
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T=  9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1,000e+000
5. 0008-001
0. 0002+000

V=1,000)

9.506[s]

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000
1,500e+000
100024000
T= 11.006[s] 5.000-001
0, 000e+000

(V=1.,000)

T= 12.01058 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

1.000e+000
5.000e-001
0. 0002+ 000

(V=1.000)

T= 12.011[s]

-~

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 000e+000

1.5002+000

1,000e+000
5. 000e-001
0.000e+000

{V=1.,000)

12.507[s]

(a) 3 WL (b) 1B 17 7538 0 AT
M- 8.8.18 EFMEOAENDY I 2l —3 a s iER (F-Wed0-A-25)

8-101



T= 950573 XZ plainy=0.52(j=6)
vector max=2.000000 ., .o..000

1,5008+000

1.000e+000
5, 000e-001
0. 000e+000

=1.000)

T=9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000 _, 0..000

1,500e+000

1,0008+000
5. 000e-001
0. 000e+000

v=1,000)

T= 11.006[s]

T= 12.00481 XZ plain y= 0.52(j=6)
vector max=2.000000 . ,...000

1.5008+000

1.000e+000
5, 000e-001
0.000e+000

V=1.000)

T= 12.005[s]

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000 . .0..000

1.500e+000

1.000e+000
5. 0008-001
0, 000e+000

V=1,000)

T= 12.507[s] 2.

(a) 3 W&JT B (b) & 1B 17 75 38R 20 AT
X-8.8.19 EFMEOAKENY I 2L —3 a s 4ER (F-Wel0-B-05)
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T=  9.50573 XZ plain y= 0.52(j=6)
vector max=2.000000

2. 00084000

1.500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 0002+ 000

1.500e+000

1.000e+000
5.0002-001
0,000e+000

(V=1.000)

11.006(s]

T= 12.01058 XZ plain y= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1,00024000
5.000e-001
0. 0002+ 000

“v=1.000) -4,

12.011[s]

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1,5002+000

1. 00024000
5, 000e-001
0.000e+000

AV=1.000)

12.507[s]

(a) 3 W&JT B (b) & 1B 17 75 38R 20 AT
M- 8.8.20 EFMEOAKENY I 2l —3 a s 4ER (F-We20-B-05)
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T= 950573 XZ plainy= 0.52(j=6)
vector max=2.000000 ., ;o0..000

1.5008+000

1.000e+000
5,000e-001
0. 000e+000

v=1,000)

T=9.506[s]

T= 11.00634 X7 plain y= 0.52(j=6)
vector max=2.000000 , 0..000

1.500e+000

1.000e+000
5. 000e-001
0. 000e+000

=1,000)

T=11.006[s]

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000 ., i...000

1.500e+000

1.000e+000
5.000e-001
0, 000e+000

V=1.,000)

T= 12.005[s]

T= 12.50694 XZ plainy= 0.52(j=6)
vector max=2.000000 . ,o..000

1.500e+000

1, 0008000
5. 0008-001
0, 000e+000

V=1, 000)

T= 12.507[s] >

(a) 3 &L B (b) & 1B 17 7538 20 AT
X-8.8.21 EFEMEOKEODOY I 2l — g r4ER (F-Wel0-C-05)
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T= 950573 XZ plainy= 0.52(j=6)
vector max=2.000000 ., ;o0..000

1.500e+000

1.000e+000
5.000e-001
0, 000e+000

V=1,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000 _, .4..000

1,500e+000

1,0008+000
5. 000e-001
0. 00084000

V=1,0000

11.006[s]

T= 12.00481 XZ plain y= 0.52(j=6)
vector max=2.000000 . ,...000

1.5008+000

1.000e+000
5,000e-001
0.000e+000

V=1.000)

T= 12.005[s]

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000 . .0..000

1.600e+000

1.000e+000
5. 0008-001
0, 000e+000

V=1,000)

T= 12.507[s]

(a) 3 &L B (b) & 1B 17 7538 20 AT
M- 8.8.22 EFMEOAENY I 2l —3 3 4ER (F-Wel0-C-20)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.0008+000
1.5008+000
1.000e+000
T= 11.006[s] Is,oeo=—om
0. 0002+000

V=1, 000)

T= 12.01058 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000
1.,000e+000
T= 12.011]s] 5, 0002001

0. 00024000

V=1, 0000

T= 12.50694 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1,500e+000

1. 00084000
5, 0008-001
0, 000e+000

V=1,000)

12.507[s]

(a) 3 &L B (b) & 1B 17 7538 20 AT
X- 8.8.28 EFEMEOKENDY I 2l —3 g iR (F-We20-C-05)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.0008+000
1.5008+000
1.000e+000
T= 11.006[s] Is,oeo=—om
0. 0002+000

V=1, 000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

1,000e+000
5.000e-001
0. 00024000

V=1, 0000

12.005[s]

T= 12.50694 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1,500e+000

1. 00084000
5, 0008-001
0, 000e+000

V=1,000)

12.507[s]

(a) 3 &L B (b) & 1B 17 7538 20 AT
M- 8.8.24 EFMEOAKENY I 2l — a s 4ER (F-We20-C-10)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.5008+000

1.0002+000
11.006[s]

T:

5,000e-001
0. 0008+ 000

V=1, 000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

1,000e+000
5.000e-001
0. 00024000

V=1, 0000

T= 12.005[s]

T= 12.50694 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1,500e+000

1. 00084000
5, 0008-001
0, 000e+000

V=1,000)

T= 12.507[s] _—

(a) 3 &L B (b) & 1B 17 7538 20 AT
M- 8.8.25 EFMEOAENY I 2L —3 a s HER (F-We20-C-20)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

9.506[s]

1.000e+000
T= 5. 000e-001
0. 000e+ 000
W=1.000)
/////;i///////////////

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.5008+000

T=11.006[s]

1.000e+000
5,000e-001
o.00080000
"=t 0000
o

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 00024000

1.500e4000

1,0008+000
5.000e-001
0, 0002+ 000

(V=1.000)

12.005[s]

T= 12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.5002+000

1.000e+000
5,0002-001
0. 000e+000

V=1.000)

12.507(s]

(a) 3 W&IT B (b) 1B 17 7538 20 AT
X- 8.8.26 EFRMEOKENDY I 2l — g iER (F-We20-C-30)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 00024000
1.500e+000
1. 000e+000
5, 0008-001
0. 0002+000

V=1,000)

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.5008+000

T=11.006[s]

1.000e+000
5,000e-001
0. 0002+ 000
“wa1, 000
L 4

T= 12.00481 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

1.0008+000
T= 12.005[s] 5. 000e-001
0,000e+000

(V=1.000)

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000
1,5002+000

1.000e+000

T= 12.507[s]

5.,000e-001
pe— 0., 0002+000
/ il

(a) 3 W&IT B (b) 1B 17 7538 20 AT
M- 8.8.27 EFMEOAKENDY I 2l — a s 4ER (F-We20-C-40)
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T= 8.50149 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

li.Eoo;«aoo

1.000e+000
5. 000e-001
0. 000e+000

V=1, 0003 |

8.501s]

T=11.00056 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.000e+000
5. 0008-001
0. 0002+000

T= 11.001[s]

/ “‘“-‘-”‘“ . |

T= 12.00481 XZ plain y= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1.000e+000
5.0008-001
T= 12.003[s 0. 000=+000

]
--------------—-;-----—--l!"m e I' ‘i

T= 12.50117 XZ plain y= 0.52(j=6)
vector max=2.000000

2. 0008+000

1.500e+000

1.0008+000
5.0008-001
0. 000e+000

(v=1.,000) |

T= 12.501[s]

(a) 3 WIT B (b) 1B 17 7E 38 20 AT
X- 8.8.28 EHMEOKENDY I 2l —3 g iR (F-We20-C-50)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0002+000
5,0008-001
0, 000e+000

V=1.,000)

9.506[s]

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000
1,500e+000
100024000
T= 11.006[s] 5.000-001
0, 000e+000

(V=1.,000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
100064000
T= 12.003[s] 5. 0002001
0, 000e+000

V=1,000)

T= 12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

T= 12.507[s] I

1.500e+000

1. 000e+000

5, 0008-001

0, 0002+000

V=1,000)

(a) 3 W&IT B (b) A 1B 17 7538 20 AT
X-8.8.29 EFMEOKENDY I 2l —3 g r4ER (F-We30-C-05)

8-112



T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 00024000

1.500e+000

1. 000e+000
5, 0008-001
0. 0002+000

V=1, 000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 00080000

1,500e+000

100084000
T=11.006[s] I

5,0002-001

0, 000e+000

(V=1.000)

T= 12.01058 XZ plain y= 0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
1.000e+000
T= 12.011[s] 5.000e-001
0, 000e+Q00

V=1,000)

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1. 000e+000
5, 000e-001
0, 000=+000

V=1,000)

12.507[s]

(a) 3 WJT B (b) & 1B 17 715388 20 AT
M- 8.8.30 EFMEVCAENY I 2l —3 a s fiER (F-We30-C-20)

8-113



T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 00024000

1.500e+000

1. 000e+000
5, 0008-001
0. 0002+000

V=1, 000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 00080000

1,500e+000

100084000
T=11.006[s] I

5,0002-001

0, 000e+000

(V=1.000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
1.000e+000
T=12.005[s] 5.000e-001
0, 000e+Q00

V=1,000)

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1. 000e+000
5, 000e-001
0, 000=+000

V=1,000)

12.507[s]

(a) 3 WL B (b) 1B 17 71538 20 AT
X-8.8.31 EFEMEOKEODOY I 2l —3 g iR (F-Wed0-C-05)

8-114



T=  9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1,000e+000
5. 0008-001
0. 0002+000

V=1,000)

9.506[s]

T= 11.00056 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000
1,500e+000
100024000
T= 11.001[s] 5.000-001
0, 000e+000

(V=1.,000)

T=12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

1.000e+000
5.000e-001
0. 0002+ 000

(V=1.000)

12.005[s]

T= 1250117 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 000e+000

1.5002+000

1,000e+000
5. 000e-001
0.000e+000

{V=1.,000)

12.501[s]

(a) 3 &L B (b) & 1B 17 71538 20 AT
X-8.8.32 EFMEOAKENY I 2l —3 a s 4ER (F-Wed0-C-20)

8-115



T=9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 00024000

1.500e+000

1,000e+000
5. 0008-001
0, 00024000

V=1,000)

T= 11.00056 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 00080000

1,500e+000

T= 11.001[s]

1.000e+000
5,0002-001
0, 000e+000
“v=1.000)
.
——

T= 12.00481 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

1.,000e+000
T=12.005[s] 5. 0008-001

0. 00024000
- 5
/ 000}

T= 1250117 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1,5002+000

T= 12.501[s]

1.0002+000
5,000e-001
0, 000e+000
/ .

(a) 3 W&IT B (b) 1B 17 7538 20 AT
X- 8.8.33 EHMEOKENDY I 2l —3 g iR (F-Wed0-C-30)

8-116



(a) 3 Wt BH (b) 1B 17 7E 38 0 AT
X-8.8.34 EFMEOAKENY I 2l — a s ER (F-We20-B-05)

8-117



T=
vector max=2.000000

2, 00024000

1.500e+000

1. 000e+000
5, 0008-001
0. 0002+000

V=1,000)

9.50573 XZ plainy=_ 0.52(j=6)

T= 11.00056 XZ plain y=
vector max=2.000000

2.000e+000

1.5008+000

1.000e+000
5,000e-001
0. 0008+ 000

V=1, 000)

11.001[s]

0.52(j=6)

T= 12.00481 XZ plain y=
vector max=2.000000

2,0002+000

1.500e+000

1.0002+000
5.000e-001
0, 000+ 000

(V=1.000)

T= 12.005[s]

0.52(j=6)

!gggggggggégggggggégJ!
T= 1250117 XZ plain y=

vector max=2.000000

2.000e+000
1,5002+000

1.000e+000

5,0002-001

0, 000e+000

(V=1.000)

T= 12.501[s]

0.52(j=6)

/

(@) 3 Wt B
X- 8.8.35

8-118

(b) 1B 17 7538 20 AT
ERYEOKEDOY I 2 b—3 g UiER (F-Wed0-C-40)



T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.0008+000
1.5008+000
1.000e+000
T= 11.006[s] Is,o‘me—om
0. 0002+000

V=1, 000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.,000e+000
T= 12.005[s]

5.000e-001

0. 00024000

V=1, 0000

T= 12.50694 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1,500e+000

1. 00084000
5, 0008-001
0, 000e+000

V=1,000)

12.507[s]

(a) 3 WL B (b) 1B 17 71538 20 AT
M- 8.8.36 EHRMEOKENDY I 2l — a iR (F-We20-D-05)

8-119



T=  9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1,000e+000
5. 0008-001
0. 0002+000

V=1,000)

T= 9.506[s]

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=2.000000

2., 00080000
1,5008+000
1.000e+000
T= 11006[5] 5.000e-001
0. 00084000

(V=1.,000)

T= 11.50269 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

1.000e+000
5.000e-001
0. 0002+ 000

(V=1.000)

T= 11.503[s]

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 000e+000

1.500e+000

1,000e+000
5,000e-001
0.000e+000

{V=1.,000)

T= 12.005[s]

(a) 3 WL (b) 1B 17 7538 0 AT
M- 8.8.37 EHRMEOAKENDY I 2l — a iR (F-We20-D-10)

8-120



T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.0002+000
5,0008-001
0, 000e+000

V=1.,000)

T=9.506[s]

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=2.000000

2., 00080000
1,5008+000
1.000e+000

T= 11006[5] 5.000e-001
0. 00084000

(V=1.,000)

T= 11.50269 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1.5002+000

1,000e+000
5.000e-001
0. 00024000

V=1,000)

T= 11.503[s]

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000
1.500e+000
1. 000e+000
5, 0008-001

T= 12.005[s] I

0. 000e+000

V=1,000) /‘,

(a) 3 &L B (b) & 1B 17 7538 20 AT
M- 8.8.38 EHRMEOAKENY I 2l — a iR (F-We20-D-15)

8-121



T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.5008+000

1.000e+000
11.006[s]

T:

5,000e-001
0. 0008+ 000

V=1, 000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

1,000e+000
5.000e-001
0. 00024000

V=1, 0000

T= 12.005[s]

T= 12.50694 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1,500e+000

1. 00084000
5, 0008-001
0, 000e+000

V=1,000)

T= 12.507[s] ——

(a) 3 &L B (b) & 1B 17 7538 20 AT
X-8.8.39 EFRMEOAKENY I 2l — a iR (F-We20-D-20)

8-122



T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 00024000

1.500e+000

1. 000e+000
5, 0008-001
0. 0002+000

V=1, 000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 00080000

1,500e+000

100084000
T=11.006[s] I

5,0002-001

0, 000e+000

(V=1.000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
1.000e+000
T=12.005[s] 5.000e-001
0, 000e+Q00

V=1,000)

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1. 000e+000
5, 000e-001
0, 000=+000

V=1,000)

12.507[s]

(a) 3 WL (b) 1B 17 7538 0 AT
M- 8.8.40 EHMBOKENDY I 2l — a iR (F-Wed0-D-05)

8-123



T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e0000
1.500e+000
1.0008+000
T=11.006[s] Is.o‘me—ooi
0. 0002+ 000

V=1, 000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.,000e+000
T= 12.005[s]

5,000e-001

0, 000e+000

V=1, 000)

T= 12.50694 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1,500e+000

1. 00084000
5, 0008-001
0, 000e+000

V=1,000)

12.507[s]

(a) 3 WL (b) 1B 17 7538 0 AT
M- 8.8.41 EFEMBOAKENY I 2l — a iR (F-Wed0-D-10)

8-124



T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e0000
1.500e+000
1.0008+000
T=11.006[s] Is.o‘me—ooi
0. 0002+ 000

V=1, 000)

T= 12.01058 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

1,000e+000
5.000e-001
0. 00024000

V=1, 000)

12.011[s]

T= 12.50694 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1,500e+000

1. 00084000
5, 0008-001
0, 000e+000

V=1,000)

12.507[s]

(a) 3 &L B (b) & 1B 17 7538 20 AT
M- 8.8.42 EHMBOAKENY I 2l — a iR (F-Wed0-D-20)

8-125



T=  9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1,000e+000
5. 0008-001
0. 0002+000

V=1,000)

9.506[s]

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000
1,500e+000
100024000
T= 11.006[s] 5.000-001
0, 000e+000

(V=1.,000)

T= 12.01058 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.000e+000
T= 12.011[s]

5,000e-001

0. 0002+ 000

(V=1.000)

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 000e+000

1.5002+000

1,000e+000
5. 000e-001
0.000e+000

{V=1.,000)

12.507[s]

(a) 3 W&IT Bl (b) 1B 17 7538 20 AT
M- 8.8.43 EHMBOKENDY I 2l — a UiER (F-Wed0-D-25)

8-126



T= 92.04250 XZ plain y= 38.40(j=5)
vector max=20.000000
2.000e+001

1.500e+001

1.000e+001
5.000&+000
0.000e+000

92.043[s]

T= 100.56017 XZ plain y= 38.40(j=5)
vector max=20.000000

2.000e+001

1,500e+001

1.0008+001
5.000&+000
0,0006+000

100.560[s]

T= 105.05131 XZ plain y= 38.40(j=5)
vector max=20.000000

I:L,E(me«om

1.0008+001
5.000e+000
0,000e+000

2, 000e+001

T= 105.051[s]

T= 110.05867 XZ plain y= 38.40(j=5)
vector max=20.000000
2.000e+001
l! .500e+001
1.000e+001
5.000e+000

0.000e+000

T= 110.059[s]

(a) 3 WL B (b) 1B 17 71538 0 AT
M- 8.8.44 EHMBOKENDT I 2l — a iR (R-We20-A-01)

8-127



T= 92.04250 XZ plain y= 38.40(j=5)
vector max=20.000000
2.000e+001

1.500e+001

1.000e+001
5.000e+000
0.000e+000

92.043[s]

T= 100.56017 XZ plain y= 38.40(j=5)
vector max=20.000000

2.000e+001

1.500e+001

1.000e+001
5.000e+000
0.000e+000

100.560(s]

T= 105.05131 XZ plain y= 38.40(j=5)
vector max=20.000000

li.EUUe-OD1

1,000e+001
5.000e+000
0.000e+000

2.000e+001

T= 105.051[s]

T= 110.05867 XZ plain y= 38.40(j=5)
vector max=20.000000

2.000e+001

Il .500e+001

1.0008+001
5.000e+000
0,000e+000

T= 110.059[s]

(a) 3 WL B (b) 1B 17 71538 0 AT
K- 8.8.45 EHMBOKENDY I 2l — a U iER (R-We20-A-05)

8-128



T= 92.55872 XZ plain y= 38.40(j=5)
vector max=20.000000

li.suug‘oui

1.000e+001
5.000e+000
0.000e+000

2.,000e+001

92.559[s)

T= 100.56017 XZ plain y= 38.40(j=5)
vector max=20.000000

2.000e+001

1.500e+001

1.000e+001
5.000e+000
0,000e+000

100.560[s]

T= 105.51591 XZ plain y= 38.40(j=5)
vector max=20.000000

li,Eoceoom

1,0008+001
5.0002+000
0.000e+000

2, 000e+001

T= 105.516[s]

T= 110.52327 XZ plain y= 38.40(j=5)
vector max=20.000000

2,0008+001

1.500e+001

1.000e+001

5.000e+000

0.000e+000

T= 110.523[s]

(a) 3 W&JT B (b) 1B 17 71538 20 AT
M- 8.8.46 EHRMBOAKENDY I 2l — a U iER (R-We20-A-10)

8-129



T= 92.04250 XZ plain y= 38.40(j=5)
vector max=20.000000
2,000e+001

1,5008+001

1.000e+001
5, 000e+000
0,0008+000

92.043[s]

T= 100.56017 XZ plain y= 38.40(j=5)
vector max=20.000000

2.000e+001

1.5008+001

1.000e+001
5.000e+000
0.0008+000

100.560(s]

T= 105.05131 XZ plain y= 38.40(j=5)
vector max=20.000000

li.EUUe-OD1

1.000e+001
5.000e+000
0.000e+000

2.000e+001

T= 105.051[s]

T= 110.05867 XZ plain y= 38.40(j=5)
vector max=20.000000

1,000e+001
5.000e+000
0.000e+000

2,000e+001

1.500e+001

T= 110.059[s]

(a) 3 W&IT B (b) 1B 17 7538 20 AT
M- 8.8.47 EHRMBOKENDY I 2l — a iR (R-We20-A-20)

8-130



T= 92.04250 XZ plain y= 38.40(j=5)
vector max=20.000000

2. 000e+001

1.500e+001

1.000e+001
5, 000e+000
0. 000e+000

T= 92.043[s]

T= 100.56017 XZ plain y= 38.40(j=5)
vector max=20.000000

2. 000e+001

1.500e+001

1.000e+001
5. 000e+000
0, 000e+000

100.560[s]

T= 105.05131 XZ plain y= 38.40(j=5)
vector max=20.000000

2,000e+001

1.500e+001

1,000e+001
5, 000e+000
0, 000e+000

T= 105.051[s]

T= 110.05867 XZ plain y= 38.40(j=5)
vector max=20.000000

2.000e+001

li,ﬁoﬂe‘wl

1,000e+001
5. 000e+000
0, 000e+000

T= 110.059s]

(a) 3 WL B (b) 1B 17 71538 0 AT
K- 8.8.48 EHMBOAKENDY I 2l — a UiER (R-We20-A-40)

8-131



T=9.50573 XZ plainy= 0.52(j=6)
vector max=3.000000

3.000e+000

2,250e+000
1.500e2000

T=9.506[s] =
7.500e-001

0, 000e+000

T= 11.00056 XZ plain y= 0.52(j=6)
vector max=3.000000

3, 000e+000
2.250e+000
1.500e+000
T= 11.001[s] =
7.500e-001

0. 0008+ 000

T= 12.00481 XZ plain y= 0.52(j=6)

vector max=3.000000

3. 000e+000

2,250e+000

T= 12.005[5] d Il.soo.ﬂmn
7.500e-001

0. 0008+000

T= 1250117 XZ plain y= 0.52(j=6)
vector max=3.000000

2, 000e+000
2. 250e+000
o 1,500e+000

T= 12.501[s] I s
7, 500e=-001

0, 000e+000

(a) 3 W&IT B (b) 1B 17 7538 20 AT
X-8.8.49 EFEMEOAKENDY I 2 — a UiER (0-Wel0-A-05)

8-132



T= 9.50573 XZ plainy= 0.52(j=6)
vector max=3.000000

3.000e+000

2.250e+000

9.506[s] 1.500e+000

7.500e-001

0. 000=+000

T= 11.00056 XZ plain y= 0.52(j=6)
vector max=3.000000

3. 000e+000
2,250e+000

1.500e+000

T

11.001[s]

17, 500e-001

0. 0008+ 000

Gl

T= 12.00481 XZ plain y= 0.52(j=6)
vector max=3.000000
3. 000e+000
2.290e+000
T=12.005[s] li.soo,«noo
7., 500e-001

0. 000e+000

T= 1250117 XZ plainy= 0.52(j=6)
vector max=3.000000
3. 00084000

2,250e+000

T= 12.501[s] Ii .500e+000

7.5008-001

0, 00084000

(a) 3 WL B (b) 1B 17 71538 0 AT
K- 8.8.50 EHMEOAKENDY I 2l — a UiER (0-Wel0-A-20)

8-133



T=  9.50573 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 00084000

1.500e+000

1.0002+000
9.506(s]

5.000e-001
0, 000e+000

(V=1.000)

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 0004000
1.500e+000
1,000e+000
11.006[s] 5.0008-001
0. 0002000

(V=1.,000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1.5002+000

1,000e+000
5.000e-001
0. 00024000

V=1,000)

12.005[s]

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1,5002+000

1. 00084000
5, 0008-001
0, 000e+000

V=1,000)

12.507[s]

(a) 3 W&JT B (b) & 1B 17 75 38R 20 AT
X-8.8.51 EFEMEOAKENDY I 2l — a s ER (0-We20-A-05)

8-134



T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.5008+000

1.000e+000
5,000e-001
0. 0008+ 000

V=1, 000)

11.006[s]

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

1,000e+000
5.000e-001
0. 00024000

V=1, 0000

12.005[s]

T= 12.50694 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1,500e+000

1, 000e+000
12.507[s]

5, 0008-001

o

0, 000e+000

V=1,000)

(a) 3 WL (b) 1B 17 7538 0 AT
M- 8.8.52 EHFMEOAKENDY I 2l — a s ER (0-We20-A-20)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 00024000

1.500e+000

1. 000e+000
5, 0008-001
0. 0002+000

V=1,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.5008+000

1.000e+000
11.006[s]

5. 000e-001

0, 0008+ 000

(V=1.,000)

T= 12.01058 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0008+000
12.011[s]

5.000e-001

0, 0002+ 000

(V=1,000)

T= 12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1. 00004000

T= 12.507[s] 5. 0008-001
0. 00=+000

=1, 000)

(a) 3 WL (b) 1B 17 7538 20 AT
K- 8.8.58 EHEMEOAKENDY I 2l — aiER (0-We30-A-05)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.5008+000

1.000e+000
11.006[s]

5,000e-001

0. 0008+ 000

V=1, 000)

T= 12.01058 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

1,000e+000
5.000e-001
0. 00024000

V=1, 000)

T= 12.011[s]

~

T= 12.50694 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000
1.500e+000
1, 000e+000

12.507[s] )
it 5, 000e-001
0, 0002+000

V=1,000)

(a) 3 &L B (b) & 1B 17 7538 20 AT
K- 8.8.54 EHMBEOKENDY I 2l — asiER (0-We30-A-20)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.5008+000

1.000e+000
11.006[s]

5,000e-001

0. 0008+ 000

V=1, 000)

T= 12.01058 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.,000e+000
T= 12.011[s]

5,000e-001

0, 000e+000

V=1, 000)

T= 12.50694 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1,500e+000

1, 000e+000
12.507[s] »

5, 0008-001
0, 000e+000

V=1,000)

(a) 3 &L B (b) & 1B 17 7538 20 AT
K- 8.8.55 EHMEOAKENDY I 2 — a UiER (0-Wed0-A-05)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000
1.5008+000
1.000e+000
11.006[s]
5,000e-001
0. 0008+ 000

V=1, 000)

T= 12.01058 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.,000e+000
12.011[s]

5,000e-001

0, 000e+000

V=1, 000)

T= 12.50694 XZ plainy= 0.52(j=6)
vector max=2.000000

2.0008+000
1.500e+000
1,000e+000
T= 12.507[s] 5, 0008-001
0. 0002+000

V=1,000)

(a) 3 &L B (b) & 1B 17 7538 20 AT
K- 8.8.56 EFMEOAKENDY I 2l — a U iER (0-Wed0-A-20)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=3.000000

3.000e+000

2.250e+000
1.500e+000

T=9.506[s] E
7.500e-001

0. 000=+000

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=3.000000

3. 000e+000
2,250e+000
1.5002+000

T= 11.006[s] o
7.500e-001

0. 0008+ 000

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=3.000000
3. 000e+000
2,290e+000
T= 12.005[5] Il.soo.ﬂmn
7.500e-001

0. 000e+000

T=12.50694 XZ plain y= 0.52(j=6)
vector max=3.000000
3. 00084000
2.,250e+000
T= 12.507[s] Ii.ano,.onu
7. 500e-001

0., 0002+000

(a) 3 WL B (b) 1B 17 71538 0 AT
X- 8.8.57 EFRHEOKEDY I 2l — a4 ER (0-Wel0-C-05)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=3.000000

3.000e+000
2,250e+000
9.506[s] Il.ﬁooyow

7.500e-001

0. 000=+000

T= 11.00056 XZ plain y= 0.52(j=6)
vector max=3.000000

3. 000e+000

2,250e+000

T=11.001[s] I1 50084000

7.500e-001

0. 0008+ 000

T= 12.00481 XZ plainy= 0.52(j=6)

vector max=3.000000

3. 000e+000

2,290e+000

T= 12.005[5] B Il.soo.ﬂmn
7.500e-001

0. 000e+000

T= 1250117 XZ plainy= 0.52(j=6)

vector max=3.000000

3. 00084000

2.,250e+000

T= 12.501[s] - Ii.int)e-nou
7. 500e-001

0., 0002+000

(a) 3 WL B (b) 1B 17 71538 0 AT
K- 8.8.58 EHMEOAKENDY I 2l — asiER (0-Wel0-C-20)

8-141



T=  9.50573 XZ plain y= 0.52(j=6)
vector max=2.000000

2. 00084000

1.500e+000

1.,0002+000
5.0002-001
0, 0002+000

V=1.,000)

9.506[s]

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.5008+000

1.000e+000
11.006[s]

5. 000e-001

0. 0008+ 000

V=1, 000)

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1,000e+000
5.000e-001
0. 0002+ 000

V=1, 0000

12.005[s]

T= 12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 000e+000

1.500e+000

1.000e+000
T= 12.507[s]

5.000e-001

0, 000e+000

V=1,000)

(a) 3 W&IT B (b) 1B 17 7538 20 AT
X-8.8.59 EFHMHEOKENDY I 2l —3 a4 ER (0-We20-C-05)

8-142



T= 9.50573 XZ plain y= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1,000e+000
5, 0008-001
0, 0002+000

(V=1,000)

9.506[s]

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.000e+000
5,0002-001
0. 0002+ 000

V=1,000)

11.006(s]

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 0002+000

1.500e+000

1,000e+000
5.000e-001
0. 0002+ 000

(V=1.000)

T= 12.005[s]

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2.0002+000

1,5008+000

1,0008+000

T= 12.507[5] 5, 0002-001
0.000e+000

{V=1.000)

(a) 3 WL (b) 1B 17 7538 0 AT
X-8.8.60 EFMEOAENDY I 2L — a UiER (0-We20-C-20)
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T= 9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0002+000
5,0008-001
0, 000e+000

V=1.,000)

9.506[s]

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=2.000000

2.00080000
1,500e+000
1,000e+000

11.006[s] 5.0008-001
0. 0002000

(V=1.,000)

T= 12.01058 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000
12.011[s]

5,000e-001

0, 000&+000

V=1,000)

T= 12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
1, 000e+000

12.507[s]
> 5,0008-001
0, 0002+000

V=1,000)

(a) 3 &L B (b) & 1B 17 7538 20 AT
X- 8.8.61 EFHHEOKEDYI 2l —3 a4 ER (0-We30-C-05)
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T=  9.50573 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1,000e+000
5. 0008-001
0. 0002+000

V=1,000)

9.506[s]

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=2.000000

2.00080000
1,500e+000
1,000e+000

11.006[s] 5.0008-001
0. 0002000

(V=1.,000)

T= 12.01058 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.000e+000
12.011[s]

5,000e-001

0, 000e+000

(V=1,000)

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 000e+000

1.5002+000

1,000e+000
12.507[s] g

5, 0002-001
0.000e+000

{V=1.,000)

(a) 3 WL (b) 1B 17 7538 20 AT
X-8.8.62 EFMEOAENDY I 2l — asiER (0-We30-C-20)

8-145



T=  9.50573 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 00084000

1.500e+000

1.,0002+000
5.0002-001
0, 0002+000

V=1.,000)

9.506[s]

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000
1,5008+000
100084000
11.006[s] 5. 000e-001

0, 000+ 000

(V=1.,000)

T= 12.01058 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

1.000e+000
5.000e-001
0. 0002+ 000

V=1, 000)

T= 12.011[s]

T=12.50694 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 000e+000
1.5002+000
1.0002+000

12.507[s]
= 5, 0002-001
0. 0002+000

V=1.,000)

(a) 3 W&IT B (b) 1B 17 7538 20 AT
X- 8.8.63 EFRHEOKENDY I 2l —3 3 r4ER (0-Wed0-C-05)
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T=

9.50573 XZ plainy= 0.52(j=6)

vector max=2.000000

9.506[s]

2.000e+000

1,500e+000

1.0002+000
5, 000e-001
0, 0002+000

(V=1.,000)

T=

11.00056 XZ plain y= 0.52(j=6)

vector max=2.000000

11.001[s]

2.000e+000

1.5008+000

1.000e+000
5,000e-001
0. 0008+ 000

V=1, 000)

T=

12.00481 XZ plain y= 0.52(j=6)

vector max=2.000000

12.005[s]

2,0002+000

1.500e+000

1,000e+000
5.000e-001
0. 00024000

V=1, 000)

T=

1250117 XZ plain y= 0.52(j=6)

vector max=2.000000

T= 12.501[s]

&

2. 000e+000

1,500e+000

1. 00084000
5, 0008-001
0, 000e+000

V=1,000)

(@) 3 &ICRIK
X-8.8.64 EHMEOKEDYI 2L —a R (0-Wed0-C-20)
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T=  9.50573 XZ plain y= 0.52(j=6)
vector max=3.000000

3,000e+000

2.2508+000
1.500e+000
7.500e-001
0. 000e+000

 e—

T=9.506[s]

T= 11.00056 XZ plain y= 0.52(j=6)
vector max=3.000000

3.000e+000

.2.250¢-000

1.500e+000
7.500e-001
0.000e+000

T=11.001[s]

T= 11.50269 XZ plainy= 0.52(j=6)
vector max=3.000000

3.000e+000

lz.zaue-ouo

1.5008+000
7.500e-001
0, 000e+000

T= 11.503[s]

T=12.00481 XZ plain y= 0.52(j=6)
vector max=3.000000

3.000e+000
'2.250e+000
1.500e+000
7.500e-001

12.005[s]

0.000e+000

(a) 3 WL B (b) & 1B 17 7E 38R 20 AT
M- 8.8.65 EFMEOAENDY I 2l — 3 iR (S-Wel0-A-05)
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T= 9.50573 XZ plain y= 0.52(j=6)
vector max=3.000000

3.000e+000

2.260e+000

1.500e+000
7.500e-001
0, 00084000

9.506[s]

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=3.000000

3. 000e+000
2,250e+000

1.500e+000
7.500e-001
0. 000e+000

T= 11.006[s]

T=11.50269 XZ plain y= 0.52(j=6)
vector max=3.000000

3.000e+000

2.250e+000

1,5008+000
7.500e-001
0. 000e+000

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=3.000000

3., 000e+000
2,250e+000
1.500e+000
7.500e-001

0.000e+000

(a) 3 WL (b) 1B 17 E 38R 20 AT
K- 8.8.66 EFMEOAENDNY I 2l — 3 R (S-Wel0-A-20)
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T=  9.50573 XZ plainy= 0.52(j=6)
vector max=3.000000

3. 000e+000

2.250e+000

1.500e+000
7.500e-001
0. 000e+000

9.506[s]

———

T= 11.00056 XZ plain y= 0.52(j=6)
vector max=3.000000

3.0002+000

"2, 25064000

1,500e+000
7.500e-001
0, 000e+000

T=11.001[s]

T= 11.50269 XZ plainy= 0.52(j=6)
vector max=3.000000

3.000e+000
2.250e+000

1.500e+000

T= 11.503[s]

7.500e-001

0. 000e+000

T= 1200481 XZ plainy= 0.52(j=6)
vector max=3.000000

3. 000a+000
2.250e+000
1. 500e+000
12.005[s]

7.500e-001

0. 000e+000

(a) 3 WL (b) & 1B 17 538 20 AT
M- 8.8.67 EFMEVOAENDY I 2L — a iER (S-We20-A-05)
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T=9.50573 XZ plainy= 0.52(j=6)
vector max=3.000000

3. 0008+000

IE,ESOQ’OOO

1.500e+000
7.5008-001
0. 000e+000

T=9.506[s]

.........lIIIllII---

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=3.000000

3. 000e+000
Iz,zsog.oou
T= 11 006[5] 1,500e+000
I?.aoo;ocu

0. 000e+000

T= 11.50269 XZ plain y= 0.52(j=6)
vector max=3.000000

2. 000e+000

I2.250e~000

1.500e+000
7.500e-001
0. 000e+000

T= 11.503[s]

T= 12.00481 XZ plain y= 0.52(j=6)
vector max=3.000000

3. 000e+000

2.250e+000

T= 12.005[s]

1.500e+000

7.5008-001

0., 000e+000

(a) 3 WL (b) 1B 17 E 38R 20 AT
M- 8.8.68 EFMEOVOAENDY I 2l — 3 R (S-We20-A-20)
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T=9.50573 XZ plainy= 0.52(j=6)
vector max=3.000000

3. 0008+000

2.250e+000

1.500e+000
7.5008-001
0. 000e+000

T=9.506[s]

—

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=3.000000

3. 000e+000

Iz.zso;»oou

1.500e+000
7.500e-001
0. 000e+000

T=11.006[s]

T= 11.50269 XZ plain y= 0.52(j=6)
vector max=3.000000

2. 000e+000

I2.250e~000

1.500e+000
7.500e-001
0. 000e+000

T= 11.503[s]

T= 12.00481 XZ plain y= 0.52(j=6)
vector max=3.000000

3.000e+000

2,260e+000
T= 12.005[51 1.500e+000
7, 5008-001

0., 000e+000

(a) 3 WL (b) 1B 17 E 38R 20 AT
M- 8.8.69 EFMEOAENDNY I 2l — a R (S-We30-A-05)

8-152



T=  9.50573 XZ plain y= 0.52(j=6)
vector max=3.000000

3. 000e+000

2, 25084000

1.5002+000
7.5008-001
0. 000e+000

T=9.506[s]

—

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=3.000000

3.000e+000

l2,250=-000

1.500e+000
7.500e-001
0. 000e+000

11.006[s]

T= 11.50846 XZ plain y= 0.52(j=6)
vector max=3.000000

3.000e+000

2.250e+000

11.505[5] ILSOQB. 000

T:

7.500e-001

0., 000e+000

T= 12.01058 XZ plainy= 0.52(j=6)
vector max=3.000000

3, 000e+000

2.250e+000

1.500e+000
7.500e-001
0.000e+000

T= 12.011[s]

(a) 3 WL B (b) & 1B 17 7E 38R 20 AT
M- 8.8.70 EFMEOAENDY I 2L — a U iER (S-We30-A-20)

8-153



T=  9.50573 XZ plainy= 0.52(j=6)
vector max=3.000000

3. 000£+000

2, 250e+000

1.5002+000
7.500e-001
0, 000e+000

T=9.506[s]

—

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=3.000000

3.000e+000

l2,2503~000

1.500e+000
7.500e-001
0. 000e+000

T=11.0006[s]

T= 11.50846 XZ plainy= 0.52(j=6)
vector max=3.000000

3.000e+000

I2.250e+00w

1,500e+000
7.500e-001
0.000e+000

T= 11.508[s]

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=3.000000

3, 000e+000

2.250e+000

T= 12.005[s]

1.500e+000

7.5008-001

0. 000e+000

(a) 3 WL (b) & 1B 17 71538 20 AT
M- 8.8.71 EFMEOAENDY I 2L — a U iER (S-Wed0-A-05)

8-154



T=  9.50573 XZ plain y= 0.52(j=6)
vector max=3.000000

3.000e+000

2.250e+000
1.500e+000
7.500e-001

0., 000e+000

T=9.506[s]

—

T= 11.00634 XZ plain y= 0.52(j=6)
vector max=3.000000

3.000e+000

l2,250:~000

1.,5008+000
7.5002-001
0, 00084000

- :

T=11.006[s]

T= 11.50846 XZ plain y= 0.52(j=6)
vector max=3.000000

3.000e4000
2.2502+000
T=11.508[s] 1.500e+000
7.500e-001

0.000e+000

T= 12.01058 XZ plainy= 0.52(j=6)
vector max=3.000000

3. 00084000

l2.250=*000

1.500e+000
7.500e-001
0. 000e+000

12.011[s]

(a) 3 W&IT Bl (b) 1B 17 7538 20 AT
M- 8.8.72 EFMEOAENDNY I 2L — a U iER (S-Wed0-A-20)

8-155



T=  9.50573 XZ plainy= 0.52(j=6)
vector max=3.000000

3.000e+000

2. 250e+000
1.500e+000
7.500e-001
0, 0008+ 000

_—

9.506[s]

T= 11.00056 XZ plain y= 0.52(j=6)
vector max=3.000000

3.000e+000

2.,250e+000

1.5008+000
7.500e-001
0, 000e+000

T= 11.001[s]

T= 11.50269 XZ plain y= 0.52(j=6)
vector max=3.000000

3.000e+000

l?.zﬁne-oon

1,5008+000
7.5008-001
0. 0002+ 000

T=

11.503(s]

T= 12.00481 XZ plainy= 0.52(j=6)
vector max=3.000000

3.000e+000
2.250e+000
1.500e+000

7.5008-001

T= 12.005[s]

0. 000e+000

(a) 3 W&IT B (b) & 1B 17 715388 20 AT
X- 8.8.73 EHRMEVOKEDY I a2 — a5 ER (S-Wel0-C-05)

8-156



T=  9.50573 XZ plainy= 0.52(j=6)
vector max=3.000000

3.000e+000

2.250e+000

1.500e+000
7.500e-001
0., 000e+000

9.506[s]

T= 11.00634 XZ plainy= 0.52(j=6)
vector max=3.000000

3.000e+000
2,250e+000

1.500e+000
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